. d Tanpuryy
Which of the following is the same as Sitar, Gu"“r:u’ﬂl“"d

(A)  Harmonium (B) . lin
(C)  Mridanga @ Y°
TR 2 her R, Prer it e e e 87
©  FEm ) Wm
R @
Lucknow is situated on river____* @) Yamun?
(A)  Ganga (D) Tonk
C) Gomii
CoCE oty a5 Rt 77 @ T3
@ 7w @ I
@n o 4 team from pimachal Pradesh who has been
Name the capmjﬁ_.l-i‘;mm» {\.bm

bestowed with WM
(A)  Charanjcetsingh

(©) smindcr?@f_él, | d 1 9w AN F W
R e g € e T
4. Prime .\cliin;::cg:s Ujjawata Yojna is rel Woricity
((g)) S:larlighl (D) Cooking gas
QU o A R & I &
(m mﬂm | } ! [ m
@ @mas. | o 00 |11 IédowiiEe
5. Find the odd man out in 16,25, 36,72, 144, 196, 225:
(A) 36 B) 72
(C) 19 (D) 225
16, 25, 36, 72, 144, 196, 225 & FHTITT HATH :
1Y) 36 (ﬂn 72

A. man is 24 years older than his son. In two years, his age will be twice the age of
his son, the present age of the son is:

(A) 14 (B) 18

€ 20 (D) 22
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ll.

12.

130

Ly mm“*ummtamﬁmwmt!ﬁ AP
M"*’"W:

© 14 @ 18
@M 20 @ 2
1 der v ed in:
?A o ""{':' lf:latloml park National Park ls( lI}o)cat Lah:ul pr
.(C) Shim la (D) Chamba
mha‘mw‘ﬂwmtr
(M T @n RS vT ey
@D Ry @) war
Which of the fopqying rivers flows in J & K from Himachal Pradesh?
(A)  Jhelum ‘ (B) Beas .
(©)  Satlyj | (D) Chenab
b B O ———
LR T0d
@ 3w .- "
(¥ et
GST means:
(A) Goods an ax ales Tax
(C) Goods an s’ | State Tax
mwa(csn#{ g
T &aFjvan T
@  aFg " | =
Which district of Himachal P‘fa"ae'sﬂ ighest density of population?
(A)  Solan | (B) Una
(C) Bilaspur (D) Hamirpur

mm:sm#m#«éiﬁuﬁwmh
© / | 1
N mTﬁet s do it togemer 1

Change the gender of ‘Colt’:

(A) Doe (B) Sow

(€) Bee (D) Filly
Isawa_______ ofLion in the forest:

(A) Group (B) Herd

(C) Pride (D) Flock
Replace ‘than’ in the sentence ‘He did nothing else than weep’:

(A) But (B) Then

(C) And (D) Only




4 W - rrect?
hich of the following sentence is €0 B) The cattles is Brazing

(A)  The cattles arc grazing :
) » cattle is grazi
(C)  The cattle are grazing (D) Thee > Erazing
. 'Se ul p L
I5.  Which of the following narration is correct? He ﬁzia s ?h':l‘;g::,ng ,ha'f’"‘
(A)  He says that | was w orking har B) He says that I am ‘f “i).rkmg harg
(C)  He says that he is working hard (D) F€ ) vorking hard
16.  Adjective of play is:
ful
(A) Playing (B) g:a)' v
(C) Played (D) Fia
17.  Find the correctly spelt word:
(A) Bouque (B) Bo"g:c:‘e
(C) Bougquele (D) Bouucq
18.  The antonym of ‘Bold" is:
(A) Il (B) Cheap
(C)  Foolish (D) Timid
19.  The synonym of ‘Evil’ is: .
(A)  Good (B) Ugh
(D) Smart

(C) Bad
20.  Find the adverb in ‘The story is well written': 0
(A)  Written ( &1\
(C) Well D
TR 82

21. wtmm?m#

(©) & FH @) YR FE
@n oA EE ?\ @n R FRE
22 -mma'a‘\ :
(@ T @n FHURT
@n & &n gl
23, omrawatsard gEH Aw a2
(w fAsaras @n  fashger
GBS @ farar e
24, e stk e e wrg T I BiRew:
@ W @)
CUBR @
25, ‘arwhrarar & Qv os wee o
@M T @
G P
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®  a W arrg & &
M er P
27 N ' (-m
T ¥ wi? a
® o Fawr ”
™ org
e L5
. 'r‘tﬁmhmmm‘ﬂ.ﬂ @ e
aad
L2l el
29 m*%. th‘;a‘ﬁﬂ (m qr'ﬂ;z‘
© T 4 e & qAa+
oy e
- m:m* dn @@
() . exa i
is:
@D ey | of side 10 €™
¢ in a cubical vess®
31, Thelengu. ononges”odwhichcanﬂ B) loﬁ-cm
cm R
© o ® wfe et Al
e mmmﬁgm(side) 10 ARAT
5 OF H a1 ey it 0w
i @n 10VZ cm
(:T, 73 o @ 103 cm
(
: its area is:
3. If diago;zl of a square is 4y2 cm then tS?B ) ;g C::z
A cm® 2c
EC)) 36 cm® (D) o
; il SR BN ’
ﬂﬁmllﬁfrﬁtv'mﬁmt w lis?
© j:::z @ 22 cm?
N

" Iy,
M and HCF of the two numbers is 180 and 6 respective y
LCM a .
33. Ig:l ber is 30 find other: B %
(A) 435 o
(C) 4290

If one of the



2wt & LCM 3
- W @ 36
@ 435 .
@ 4290 £
. , -2) is divided by y-
34, The line segment joining points (-3, -4 and (1, -2) Y Y- axis in g,
ratio of: '
@ 3 @) 13
© 23 (D) 32
R (3, 4) 3 (I.-2)$Wmmy' yr g R s
Renfera g &2 .
Iy} 31 @ "
9
@n 23 @n 3
35, Ifmean=75and median is = 60 then mode is: )
(A) 30 (B) 105
() 330 D) 245
o s = 75 ¥R AAE = 60 na\tgawmr;
@ 0 @n 105
n 330 @ 245
36.  If the perimeter of the circle is equal to that of a square, then the ratio of their
areas is:
(c) 1:14 (D) 22:7
af g 3t @t w7 e o A e @ 5 I F1
@ 72 @ M
#n I @ 2.7
37.  Solve 4-4x5+5:
i dlle @) 10
© - D) -21
4-4x5+5 &1 ¥ &
® ° @ 10
@ -l &
38. A(::\c;:rda;;g1 to Pythagoras theorem (12)*+ ........ - (213)2:
(B) 5

C) 107
© (D) 25°




wwwm.,w(,,,u ........ = (13"

2
™ 13 ™ 5 .
&M 10 ® 25
.
39, Roots of quadrygic cquatlon Z;J-x*'i are
(A) 3,1 B) 1.1
z &3 1 83
c 2 &1 ) (D)  None of the above
372
g wafraor 2x+; FHA:
@ 3g1 ! gl
2 %3 ™ Led
@ g-&g @) s A wE
“ 1—tan’4s°=
" 1+tan’4so
(A) -l (B) 2
(€ 0 (D) |

41.  Scurvey disease is caused b :
(A) Vitam?n A (B) Vitamin B
(C) VitaminC (D) VitaminD

Y the deficiency of

=t oy Fr w1 F Fror gk
M) R @ R
@ Ro@sd @ fRoftm

42. The chemical used to
with aluminum is:

(A) Fe.0, (B) MnO,

(€) ZnCO;4 (D) Cu0
m.mquﬂﬁm*mmﬁmmma:gimﬁsWﬁm
H1 e & e R sk

(@ Fe0; @ MnO;

@ ZnCO;

(‘Q‘) CU20

The “ability’ of metal to be drawn into wires is called:
(A)  Ductility (B) Malleability
(C) Sonorous (D) Conductivity

43.
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et A A & @)

@ @ (@) Salehea
q G
! ten is: 0
§4.  Melting point of fungs (B) 1380°C
(A) 3422°C (D) 3422°F
(€) 1380°F
e A T @ 1380°C
@ 3¥2C @ M2F
) 1380°F
45.  Chemical g:rmula of benzene is: B) CH:
A G CsH
(C) CeHe i
: w
mﬂé?:a Ky @ C:H,
m 4
Gﬂ') CbH(, (:‘?D CsHs
46.  Which gas is produced when dilute hydrochloric acid is added to reactive meta)
(A) CO; (B) SO
(C) H (D) CO
] FRRIE I Y ST urg ¥ Bem @ st @t e sl e b
(® CO, @ SO;
@&n H @n CO
47.  Total number of structural isomers of C4H o are:
(A) 5 (B) 3
€ 2 (D) 4
Cablio & TR Tl 1 gor g §:
@ 3 @ 3
@@ 2 @ 4
48.  The electronic configuration of which element is 2,8,3:
(A) Sodium (B) Magnesium
(C©)  Aluminium (D) Potassium
Maawmﬁwﬂamrz, 8,3
(W dfsgs

@ vegRfrw AN e
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52.

| LN
rhe chemleal faryy 1y of neid present In vinegar |

(N 180, (B) Cel l[fo,
©  CIeoo) (o) 1€
R A YRR 3 ey g b o
@ 1180, @n CelsOy
(m Cl I)C()Q| | (-gn 1HCL
2 il‘Cll“:
Name the instrygent thnt Is used to control current In an clectric €
(A)  Rheosty (3) Ammeter
(C)  Voltmeg, (D) Galvanomelcr
Ry TR 3 Ry rrr i R sy amay e o e 0T B2
@ e @n e
(¥ B\R'mn E4)) AFAATAES
What is the refracqive Index of dinmond:
(A) 242 3y L5
€ L0 (D) 1.33
R W 3T R a2
@ 10 @n 133
A converging mirror is: _
(A)  Concave mirror (B) Shaving mirror
(C)  Plane mirror (D) Convex mirror
1 | AT ador ¢
(M) e adoy @  arEr T & e gdor
@ TEEE o @) 3awgdor

The difference in temperature between surface water and water af a depth of 2
Km in sea is:

(A) 10°C B) 15°C
(C) 20°C (D) 25°C
W & T8 T A & 9w qur 2 Bl Brex e ek o1 o1 & g & sraw grard:
@ 10°C @ 15°C
@n 20°C @n 25°C
In an cleetric circul.l the direction of fow of electrons nnd eleetric current is:
(A) Inthe opposite direction (B)  Inthe same direction
(C) Nodirection (D) Remain stationary }



Rryger wfvow 3 wvagiat au Rger um & vy & R
@ Rl R g (d M%mm
o i oh R g @ RRgdy P

35, An electric bulb connected to n 220 V generator und g tlogy 1
passes through the bulb, What will be the power of the buly, c""*m
f"‘.

(A) 100 W (B) 1100w
€ 110W (D) 60w
R a R aer 220 V & e W b AR w05 4 Ry
& oo  uRa w=anh %"‘%
@ 100w @ 1100w "
@ 10w @ W
36. Magnetic field lines are: |
(A) Straight (BY ™ Curyed”
(C) Close curve D) Triangular
?ﬁwﬁzhﬁﬂ?ﬂf: ,
57. Sl unit of clcclﬂgpoi;ntial difference is:
(A) “Ampee (B) Volt
© Mﬂt[ (D) Ohm
Rovra i g 7
@ ey @ 3w
58. The functional unit of kidney is;
(A)  Neuron (B) Nephron
(C) Bowman Cup (D) Glomerulus
Tﬂﬁﬂﬁmmmh
® = @) awle
& dEEay @ EERlew

9. An example of Homologus organ is:
(A) Humanamanda dog's fore-leg (B) Human teeth and elephants tusk

(C) Human arm and fore limbs of horse (D) Allof these



61.

62.

AT it W szneCor b: i
© gy g @ ot A
(N AT ay gy it oY ITIE @ ®N

Which of the foljowing is ® plant hormone:
(B) Qestrogen

(A)  Insulin
(C)  Thyroxin (D) Cytokinin
m#tmmmmh
@ g @n R
@ Bifw @n FEHEEA
r and encrEY takes place

The breakdown of pyruvale to give carbon dioxide, wate

in:
(A) Golgi bodies (8) Chloroplast

(C) Mitochondria (D) Nucleus
mtmaamﬂ.mmwmnﬂtwmﬁ" LE

(@ T vt @n eRaaa®

@ AR @ FF
1;!::)gap Dhctwccn two neurons is called a :

endrite (B) Synmapse

(C) Axon (D) Impulse
2 ST FIRIET & T W T B T HE § 2

@ FR @ =\

GRS IC] @n 3w

The xylem in plants is responsible for:

(A) Transport of water (B) Transport of food

(C) Transport of amino acids (D) Transport of oxygen
9reY & FTEEH Jeawer &

@ SSHTEA @ e e
@n e I T @) IS T Te

Which of the foll
v e following is not a part of female reproductive system in humin
(A) O J
(C; Um (B) Vas Deferens
(D) Fallopian tubes
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(T)  3mrm e ,‘F -
@&n  mnE & B
tation period?
6. Wit e loin i 75 5
Birds
(Cy  Elephant () |
o qreft el &:
Ry ot i oy s ok T AT
@ T
% & "

66.  State lower of Himachal Pradesh is: ) P@k ndsc
((2; lli(:sis (D) HOV ¢ Forest
mma:mmfmmmh @ -~
(m FAd 3

qemr
@ I

67.  Great Himalayan h@ located in:

(A) Kullu (B) Lahaul & Spiti
himla (D) Chamba

3T & W R
@n el va T
@n &

68.  Blue bull belongs to category of animals called:

(A) Goats (B) Cows
(C) BufTalows (D) Deer
A e srerany € Aoft & sidta smar

(M awd @n M
@ #\ @n 7

69.  Following freshwater mammal is found in river Beas:

(A) Hippopotamus (B) Dolphin
(C) Baikal seal (D) Walrus
T & Fle7 77 3 Ol 7wt # St e A A qr STET
(W  afars e @ Siew
@ dFTdT

@) aoRE



70.

71.

72,

73.

.

18.

\wldurc w -

ek is celehrated during month D

(A) Febry (B) April
(€) Jllly i (D) October
T WM aeteray ey ¥ svean el 7
Sy dn
M e @ I
Lion is founq :...
(A) Gl:j':;’lm' (B) Meghalaya
(C)  Orissy (D) Goa
U R R 3t gy e # 2
(M  IS0a @n Haear
@@ IFrar @n
Smallest functiona] unit of forest administration is:
(A) Beat (B) Rz.m.gt.:
(C) Block (D) Division
T TUTE Y gy g SIS g HA A E
@ @n o7 aRET
@n =w @& HAUSH
The name of person famously known as waterman is:
(A)  Chandi Prakash Bhatt (B) Su[\derlal !?ahuguna
(C) Anupam Mishra (D) Rajendra Singh
Ry ST Y SreftaTaT & AT W ST S &2 |
(M) TSR HE @ FeT T agen
@ 3eH e #n Tl E
Which of the following Indian state is having maximum area under forests’
(A) Maharashtra (B) Guyrat
(C)  Himachal Pradesh (D) Madhya Pradesh
frafae e s T A AT e & R 2
T HERT @n IR
@n  fewrae v @n AT TEA
Which of the following is important component of Trifla:
(A)  Arjun (B) Harard

© Sal (DY Mahua
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@ & @ e
76.  Katha is extracted from the wood of which 'm?Ban -
(A) Tooni (B) reak
(C) Khair (D)
s Pea S e e &2
@ F @ T
@ W @
77.  Global warming is due fo higher quantityof ___°
(A) Nitrogen (B) OAYrE: ncn
(C) Carbondioxide (D) Hydros
s RO FRT__ mrtt:-
@ A @dn 3fEas
i @ &
78.  Which oncof lbcsccncrgysonrteisnolofpllntorigiu?
(A)C :V:od (B) Gobar gas
(C) Nuclear (D) Coal
gt 3 W T ST ST W T UGkt if g
(@ & @n e
@ A @ Fg
79.  The area under forests in Himachal Pradesh is:
(A) 35948 sqkm (B) 36948 sq km
(C) 37948sqkm (D) 38948 sq km
frmmas v # ot & seaha A A ek
@ 35948 o RratArex @ 36948 T AT
@ 37948 T RsieieT @n 38948 7 ey

80. Amrita Devi Bishnol sacrificed ber life along with 363 others o save which tree?
(A) Kanakchampa (B) Khirk

(C) Kejri (D) Kachnar
Fogen & Rremh aray 317 363 At B g ®) aama & R afdee fam

(@ FARGET @) REw
rd a5 @ TR -
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I
((;\; "m:'mhn!oflllknorﬂl“: ") l.liull
Mulberry (D) Sema
hmtm
Tt s v ot & wher vt S8
= = an B
) e #n

17
n forest depur"“"(‘)mccf

“'t!CL Fore rest ()mccf

f the following Is highest rank |

(A Assig » f forest (B)
(©) Forestﬂl:;:::'r‘n?:: e () Divisiona!
o R 3 gy mez TR b STy
(M) BETUE iy qriwr® () T N
@M T afteyy yftrard dn #OEA T
83.  Chenab river jg 4150 known ns in Himachal pradesh:
(A)  Chapla () Kosi
(C)  Chandarkala ) € handrabhag?
AT SN 3 foysyrar st S Py 1197 3 vt ATl t?
(M T9&r @n FE
@n  TRwar @y TR
84.  Himalayan Forest Research Institute is located in:
(A) Bilaspur (B) Shrinagar
(C) Shimla (D) Almora
Rttt & ST Fea 8 W R &
(m fEEg @n AR
@ RFer @&n HAAS
85. A plant which can grow partially or wholly submerged in water is called:
(A) Hydrophyte (B) Xerophyte
(C) Mesophyte (D) Epiphyte
ST oty HfRv g o W#M#pgvmtwmmp
@ S @n AT

@ wAfeE @ e



Recruitment to the post of Forest Guards-2019

Answer Key (Series C)

Q No. Answer Q No. Answer Q No. Answer
| D 31 D 6l C
2 L 32 B 62 B
3 B 33 B 63 A
+ D 34 A 64 B
5 B 35 A 65 C
6 D 36 B 66 B
7 A 37 C 67 A
8 D 38 B 68 D
9 C 39 B 69 B
10 D 40 C 70 D
11 D 41 C 71 A
12 C 42 A 72 A
13 A 43 A 73 D
14 B 44 A 74 D
15 C 45 C 75 B
16 B 46 C 76 C
17 B 47 € 77 C
18 D 48 C 78 8
19 C 49 C 79 C

20 C 50 A 80 C
21 B 51 A 81 C
22 B 52 A 82 D
23 D 53 C 83 D
24 A 54 A 84 C
25 B 55 C 85 A
26 B 56 C
27 A 57 B
28 C 58 B
29 C 59 D
30 A 60 D
D
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